(DENG 1)

ASSIGNMENT 1
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(b)

First Year
ENGLISH PAPER —1

MAXIMUM MARKS :30
ANSWER ALL QUESTIONS

Read the following passage and answer the questions that follow.

Naval architects never claim that a ship in unsinkable, but the sinking of the
passenger-and-car ferry Estonia in the Baltic, surely should have never
happened. It was well designed and carefully maintained. It carried the
proper number of lifeboats. It had been thoroughly inspected the day of its
fatal voyage. Yet hours later, the Estonia rolled over and sank in a cold,
stormy night. Of those who managed to scramble overboard, only 139
survived. The rest died of hypothermia before the rescuers could get them.
The final death toll amounted to 912 souls.

(1) Where did the ferry sink?

(11) Why should the accident never have happened?

(11) What was the effect of the accident?

(iv) What was the passenger-and-care ferry called?

(v)  Give the synonym for, ‘fatal’.

Read the following passage and answer by choosing the right option :

Erosion of America’s farmland by wind and water has been a problem since
settlers first put the prairies and grassland under the plow in the 19tk
century. By the 1930’s, more than 282 million acres of farmland were
damaged by erosion. After 40 years of conservation efforts, soil erosion has
accelerated due to new demands placed on the land by heavy crop production.
In the years ahead, soil erosion and the pollution problems it causes are
likely to replace petroleum scarcity as the nation’s most critical natural
resource problem.

(1) As we understand from reading, soil erosion in America
(1) causes humans to place more demands on land
(2) 1s worse than it was in the 19th century
(3) happens so slowly that it is hardly noticed
(4) 1s the most critical problem that the nation faces
(1) Erosion of Farmland’s happens by
(1) Putting it under the plow
(2) Pollution
(3) Wind and water

(4) Placing new demands on the land



2. (a)

(b)

©

(d)

(111) The author points out in the passage that erosion in America
(1) has become severe and forced people to abandon their settlements
(2) occurs only in areas with no vegetation
(3) can become a more serious problem in the future
(4) was on the decline before 1930’s
(iv) The antonym for “accelerate” is
(1) Rapid
(2) Slow down
(3) Stagnant
(4) Stop
(v) It is pointed out in reading that in America
(1) petroleum is causing heavy soil erosion and pollution problems
(2) there are many ways to reduce erosion
(3) water is undoubtedly the largest cause of erosion

(4) soil erosion has been hastened due to overuse of farming lands.

Correct the following sentences :

(1) The small child does whatever his father was done

(11) The man to who I sold my house was a cheat

(111) Where is the shoes?

(iv) A laptop was very sophisticated and costly

(v) They were all shocked at his failure in the competition.
Rewrite as directed :

(1) They left for the airport. (Add a question tag)

(11) Jaya ordered the food. (Change the voice)

(1) He said, I did not lie. (Change into indirect speech)

(iv) Inspite of his hard work, the body didn't succeed. (Change into
compound sentence)

(v)  Susan will help you solve the problem. (Change into negative sentence)
Change into direct speech :

(1 Raju told me he was going to the barber

(1) Preethi asked me to pass the salt

Fill in the blanks with correct form of verbs given in the brackets :

(1) He wants Mary ————— (do) the dishes.
(11) Would you mind ——— (open) the window, please?
(1) He usually —————— (do) his homework in his room.

(iv) Let me ————— (leave) the classroom please.



(v) John ——— (watch) TV every night.
(e) Fill in the blanks with suitable words given in the end.

(1) She ——— the job offer.

(11) The dog ran ———— the yard.

(111) He ————— about his mistake in that test.

(iv) She ————— and walked away.

(v) John ——— his friends for a while and then went home.

(velled, visited, accepted, thought, across)
(  Rewrite the following set of jumbled sentences to make a coherent passage.
(1) He could have practiced law and spent a comfortable life.
(11) He was born on 224 October, 1869
(1) He choose to fight the British, for independence.

(iv) Mohandas Karam Chand Gandhi, popularly known as Mahatma
Gandhi.

(v) He was a lawyer by profession.

(g) Write three exchanges of dialogue between a person who wants to book a
reservation at a hotel and the receptionist there.

(h) Write a paragraph using the following hints.

Good for young and old — refresh mind — makes us smart and active — light
exercise — see nature — birds fly — flowers bloom — ponds — canals — full of
water — running water — sweet music — regular walk — enjoy most.

(1)  Write in about 100 words on any ONE of the following.
(1) The effects of peer pressure.
(11) The downside of smart phones.

(1) Growing number of people shopping online.

3. Write an essay on following :
(a) Justify the little, “A sense of the Future”.
(b) Bring out the humour in George Bernard Shaw’s, “Dilly at the Dentists”.
(¢) Summarize the story of “The Topaz Cufflinks Mystery”.
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1. Write short notes on the following :

(a)

Rose”.
(b)
(©
(d)
©)

Write about the comparison of the rose to the lady in the poem “Go Lovely

What is the central theme of “On killing a Tree”?
Summarize the poem, “The Express”.
How is the importance of nature brought out in the poem, “T'ables Turned”?

Justify the title, “Laugh and Be Merry”.

2. Write an essay on the following :

(a)
(b)
()

3. (a)

(b)

Explain the irony in Karel Capale’s, “The Fortune Teller”.
Bring out the appropriateness of the title, “God sees the Truth but waits”.
How is Srijut the victim in “The Gold Watch”?

Explain the following :

(1 Yes I did, but that “be in London. She is going to stay with me, and
then live with the same family”.

(1) You ask, what is our aim? I can answer in one word. It is victory.

(1) ‘T've seen wild cats in trees at night and their eyes shine’.

Explain the following :

(1 Up!Up! My friend and clear your looks why all this toil and trouble.

(1) Allis, if T have grace to use it so. An ever in my hard task Master’s eye.
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1. (a) Write the significance of the Ramayana in 10 lines.
IARIVRITAARVHATEIpeY G2T aTaTiol forsrd ?
(b) Explain the qualities of scholars as described by Noble Vidura.

Rigefel sfrTdienfar afoda steronar Rigoya 2

2.  (a) Write the words uttered by celestial bachelor with Parvathi who was
performing Penance.

AgeTRed] arddt ufdr i aaenfer forzra 2

(b) Explain the help rendered by Rajavahana to Brahmin.
TG (&GSl (A21Gad ?
3. (a) Describe the six seasons as prescribed in the lesson.

UTGIHTSHORICY YEe] Jurad 2

(b) Write the story of intelligent Rabbit.

HRIGR212IS: 3l BT ferzrd 2
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1.  Answer the following with reference to context.

o IR |

(a) T GRATCHIN HISTIoG T |

(b)  sTepIofta Toga: |

(© forfegarfer o Aad

@) T e etz T

(e) oRRATE JEHATERH|

(f)  TFIr: Bt 1§ Yeleiaa faerd |

(@) 3T Profol GIPADCH! TATHI

(h)  govg {3 Jrofret: 7wl
2. Translate into English or Telugu.
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(a)

(b)

()

(d)

SIS HSITON 5R: Ufved SeId ||

Write the forms of in the other numbers of given persons :

TR ETq F/TToT forzra|

(@)  oaf (i) oI
(iii) forsgey (v) g
(v) @ (vi) 3mGa
(vii) dogd (viii) 31|
Decline as per the case ending.
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Combine Sandhis.
Ao |

(i) Y+ IE
(i) ©Tq + 3T
(v) ddq+d

(vii) §C + 7T
Dissolve.
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(vil) JDYSITE:
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(vi) T + et
(viii) 3 + 3Fect: |

(i) Ydem:
(iv) TR
(vi) ~stelicTe
(viii) TLOTH
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First Year

SPECIAL ENGLISH PAPER -1
MAXIMUM MARKS :30
ANSWER ALL QUESTIONS

(a) Answer the following, each in 200 words.

(1) Write a note on the influence of French on the English language.
(11) Discuss the emergence of a 'Standard English'.
(1) Explain with illustration any three modes of semantic change.
(iv) Write a paragraph each on two of the following:

(1) Prefixes

(2) The Bible

(3) American English

(4) Verner's law.

Read the following passages (b) and (c) carefully and answer the questions that
follow. Your answer should the complete. They will be evaluated by correctness of
your language and relevant matter.

(b)

()

"I shant's shut up until you acknowledge that Squeezer is a hundred times
letter than your Guess".

(1) Who is the speaker?

(11) To whom is the speaker speaking?
(111) Who 1s Squeezer?

(iv) Who is Guess?

(v)  What is the argument about?

Laugh and be merry, letter the world with a song. Better the world with a
blow in the teeth of a wrong. Laugh and he merry together, like brothers
akin, Guesting awhile in the room's of a beautiful inn.

(1) What is a flow in the teeth of a wrong?

(11) How can the world be better?



(a)

(b)

(111) How should we he together?
(iv) Explain the last line.

(v) Give a synonym for the word 'merry'.

Answer the following in 200 words.

(1) Bring out the significance of the tittle, 'Scorn not the sonnet'.

(11) Discuss the central theme of 'Ode to the west wind'.

(111) Summarize the main ideas of 'Elegy written in country churchyard'.
Answer any ONE of the following in 200 words.

(1) How is Father Gilligan helped in the poem?

(11) Discuss Burns' thematic concerns in 'A Red, Red Rose'?

(1) Critically analyze 'My Last Duchess'.
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SPECIAL ENGLISH PAPER -1
MAXIMUM MARKS :30

ANSWER ALL QUESTIONS

1. Answer the following in about 200 words.
(a) What is the significance of 'plot' in a drama?
(b) Comment on Mitchell's thematic concerns in, The Best Laid Plans'.
(¢) Discuss the art of characterization in 'Mother's Day'.

(d) Bring out chekov's understanding of human nature in, 'A Marriage Proposal'.
2. Answer the following in about 200 words.

(a) Discuss the variations in point of view in fiction.

(b) How does Khuswant singh used effective point of view in, '"The Interview'?

(c) What is the mood and setting of 'The tell-tale heart'?
(d) Bring out the theme of sacrifice in 'The Gift of the Magi'.



ASSIGNMENT 1

B.A. DEGREE EXAMINATION, DECEMBER 2020.

First Year
Political Science

Paper I — CONCEPTS, THEORIES AND INSIT
MAXIMUM MARKS :30
ANSWER ALL QUESTIONS

Explain the growth of Political Science.
0730 B Y50 @SB DSGoHI0.

Define the normative approach to the study of Political Science.

208 T e ADI0S” I E@ADEE R, By0s.

What are the elements of state?

Toesg 33°08 om0 IS B0y0dk?

Write short note on social rights.
RPOVE TPEN O OP 0 [PAHOG.
Discuss the nature of the Indian Federalism.

2B D3P DGR Begradsnd $8y0S0k.

What is sovereignty? Types of sovereignity.

AEEFSTETE0 063 IDE3? FBEFSTETE0 S5een.

Write a short note presidential form of government.

938, BB (80880 2.8 O 70 [FPASS.
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Political Science

Paper I — CONCEPTS, THEORIES AND INSIT
MAXIMUM MARKS :30

ANSWER ALL QUESTIONS

Explain the functions of legislature.

FPRS 2983 DEVOS DIB 0.

Describe the theory of separation of powers.

Slaienlatielas ?ocs@ooégﬁog D380,

Write an essay on functions of political parties.

oresdah 8o B0, DEHOD &8 TR0 Do

Distinguish between nation and state.

2@ 308010 TPe350 06510 B SeVIHBw.

Explain about equality of opportunity.
DITS ©955°F0 80D DSBOLSW.

(a) Evolutionary theory.
SBT3 DELOBIW.

(b) Kinds of equality.
D3PI F5Pen.

(¢) Universel Adult Franchise.
BSOS 3ITesS 8t T8

(d) Judicial Review.
0D SEVE,
(e) Referendum.

98| DESes.

()  One party system.
D8 0 DEPSB0.



(g) Democracy.
2983 Pge30ge3 ).

(a) Answer the following in 1 or 2 sentences :

(1  Civil Society.
DR D3T°3300.

(1) General will.
B,
(1) Liberty.
?0031:51).
(iv) Federal government.

DSy (HE0B0.

(v)  Economic equality.
388 D30,
®
(vi) State of nature.

BrE)DE 55555,

(vil) Morality.
D&,

(vii1) Executive.

o8 DT°EF°Y.

(ix) dJustice.

szgojoo.

(x) High Court.

a8,
(b) Answer the following in 1 or 2 words :
(1) Nation.
ed.

(1) Politics.
O3S,

(111) Social contract.

3R euCE0VGE.

(iv) Modern state.
€36000 Trasgs.
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Paper I — CONCEPTS AND THEORIES
MAXIMUM MARKS :30
ANSWER ALL QUESTIONS

Explain the nature and scope of public administration.

DERBEFOT® BRI DEIP0 0850 HBED DSBOYHS0.

Distinguish clearly public administration and private administration.

HEOSOP B0K0 PB FOSK DFOTT SR ey,

Write an essay on the features of the social, economic and political systems of the
developing countries.

@é)éq)@ 50663&“90521 Qzee Q308 A3TeE, eags’, oresdoh o“acgeﬁoem OFETOO J’éédjt’o“aoéﬁ
[E9°P0500300.

Trace the evolution of classical theory of organisation.

O EOD %cs@ooégﬁog HBews, MDD DI 178y Be0yS0.

What is the leadership? Examine the different theories of leadership.
TANEB0 063 B2 DDEG TADESE; DETOTVL SOOI

What is good governance and explain its policies?
RODBOS 937 320 2 0BT DEPared DS80S,

Examine the view of Woodrow Wilson on the relation between politics and
administration.
asdafren SHBA5 VT RSN (D) B06%5 HoOESN (B GOE DO PSS

S5B3OS,



B.A. DEGREE EXAMINATION, DECEMBER 2020.

What are the main ideas of Karl Marx on bureaucracy?

ASSIGNMENT 2

First Year
Public Administration

Paper I — CONCEPTS AND THEORIES

MAXIMUM MARKS :30

ANSWER ALL QUESTIONS

. Write an essay on the mechanistic or structural functional theory.
RT7En S9B0K0 DEFTED )8 50 By 2.8 SrdErHos” [mratusn.

58 3775 ) DD ArS00S” && R0 @065 D003 ?

DPADI1)

Critically examine the contribution of human relations approach to the public
administration.

D80S FPOT° FPHOSED SIS HOWOFRV BHBIP0 VIV PGS0 H588D0WIS.

Examine Douglas Mc.Gregor's theory 'X' and theory 'Y'.
cério DBAMG *A? 08050 DEPOSBSNE HBID0BSN.

Write the characteristics of Ecological approach to the study of public
administration.

€35880 (5)5)0 B0, OFESNOL FOT° TRV & @ (ak0E0.

(a) Comparative public administration.

(b)

©

(d)

(e)

®

(2

OGS (gL FOT FJ0.

Sala model.
T IAIP.

Prismatic society.
E58T° ReI°230300.

Types of planning.
REPOE Bz°e0.

Qualities of leadership.

TPOIES; 0533000 (FB0).

Dual supervision.
B35 06655583.
Encoding.
$503e¢850.



7.

(a) Answer the questions in 1 or 2 sentences :

(b)

(@)

(i)

(iii)

iv)

V)

(vi)

(vii)

Delegation.

¢38¢8.

Legislation.

5630,

Centralisation.

S0|855¢a.

New Public Management.
SISS (0808 DET°es.
Likert leadership.

856 Tahss.o.

Decision making.

&)gomédeg.

Co-ordination.

D305.0%00.

(viil) Heterogeneity.

(ix)

(x)

DDEEc0.
Judicial review.
s DDE,
Gangplank.
reof 3708,

Answer the following in 1 or 2 words :

@)

(i)

(iii)

iv)

Rationality.
PETRE0.
Woodrow Wilson.
&O[& DOY.
Public Relations.
(28 H02)0GP.
Michels.
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